fambette.. C-17000

info@jambette.com

1877 3632687 ASSEMBLY PLAN

16/01/2019 Toy box

DL

ltem Description Qty.| Number

1 Toy box (48 x 30 x 30) 1 *34330
2 1/4 Stainless flat washer 16 42460
3 3/16 Aluminum flat washer 16 42505
4 10-24 st/st nylon lock nut 16 42773
5 4-1/2" galvanized hasp 2 45202
6 10-24*1 flat head stainless steel bolt 16 45825

If you want to install the hasps, drill
1/4" holes in the pannel using the
engravings on the inside as pilot holes.




	Feuille1
	Vue de mise en plan2
	Vue de détail A (1 : 3)


